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QUESTION 1

Your organization is planning for a periodic counting of individual itemsthroughout the year. As part of this activity, the
user has loaded items to the cycle count but some of the items are not being considered when count schedules and
count sequences are generated.

Which reason explains why the items are not being considered?

A. The Include in Schedule option is not selected to include the item for auto-scheduling.

B. The Cycle Count Enabled flag is not selected for the item.

C. The approval controls are not set up.

D. The Cycle Count Enabled flag is not selected for the inventory organization.

Correct Answer: B

QUESTION 2

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume
that the reorder quantity is 24 and you specify 10 for the fixed lot multiple and enable rounding the reorder quantity.

What will be the reorder quantity?
A. 24
B. 30
C.20
D. 25

Correct Answer: B

QUESTION 3

Yourorganization performs a restock via a transfer order between inventory organizations, using the following
parameters for processing: Transfer Type: In-transit transfer type Receipt Routing: Standard Transfer Order Required:
Yes During the process, the receiving organization wants to make a change to the transfer order line. After

which fulfillment stage will they no longer be able to change the transfer order?

A. Closed

B. Ship Confirm

C. Awaiting Fulfillment

D. Awaiting Billing
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E. Awaiting Receiving

Correct Answer: A

QUESTION 4
Which three statements are true regarding Managing Units of Measure? (Choose three.)
A. Conversions between classes are unigue for each item, the conversion rate varies for intraclass unit of measure.

B. A unit of measure standard conversion specifies the conversion factor by which the unit of measure is equivalent to
the unit of measure class.

C. A unit of measure conversion is a mathematical relationship between two different units of measure.

D. If you want to transact items in units of measure that belong to classes other than their primary UOM class, you must
define conversions between the base units of measure in different UOM classes.

E. You must define Unit of measure class with a base unit of measure.

Correct Answer: BCD

QUESTION 5

You are currently implementing Oracle Cloud for the Singapore entity of your multinational customer. Their headoffice is
located in Japan. Apart from Singapore, their other entities are using a legacy system.

Their requirement is to implement Oracle Cloud in such a way that at the end of the financial year, all their financial
reporting should be in Japanese Yen.

How will you fulfill the above requirement?

A. Define one primary ledger with SGD (Singapore Dollars) as primary currency and use the reporting currency
functionality to provide the necessary data in Japanese Yen currency.

B. Define two ledgers one in SGD (Singapore Dollars) and one in Japanese Yen and transfer data of all the subledgers
in these two primary ledgers.

C. Define one primary ledger with Japanese Yen currency so that all the subledger data gets converted to Japanese
Yen automatically.

D. This requirement cannot be fulfilled.

Correct Answer: A
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